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HA BC of 4L wjj, DI o] ZoJ&?

DE

D 1lcm @ 2cm ® 3cm ®)4 cm
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=, /DBI = /DIB
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- (©)=(©)
@ @/BOP @ ©OPA ® ©PB
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AIBC @] YZ+e] 37]9] gto] 180° 0|2
/x+ e+ x=180°°|},
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/A = /BAC =50°

1
. /BIC =90°+ 3 x50°=115°




23.

ohe 18olA A 1+ aABC 9 UiAe]th BE ] Zol&?

@ 6 @5 ® 8 @9 B)7

A 17 A2 9] YAlo]22 AD = AF,BE = BD,CE = CF
ojr}.
BE=x=BDO9/E2CE=11-x=CF,AD =10-x = AF
o|tt.

AC=AF+CF=10-x+11-x=7

x=7




24. & 139 AABC = AB = AC & O]%bﬁﬁﬂﬁéﬂﬂ}. AABC ¢
YA

91497+ HAle] 242} 7 0, 1], /A =

T

2}
0° 4 o, zx & 2717

W A\¥

D 15

@22.5

® 25

@ 275 ® 30

AABC 9] 9]4lo] 1 O ¢ of,
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1
(BIC = 3 x 30° + 90° = 105° o|t},
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